
7^16 + 7^24 - 7 * 107 = 
1000000000000000000000000
                10000000000000000
--------------*666666666666667
1000000010000000000000000
                                          2120
------------------------------------------
1000000006666666666664550

749(10) = 7^3 + 7^3 + 7^2 + 7^1 + 7^1 = 
= 2*7^3 + 7^2 + 2*7^1 = 2120
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def convert_base (num, to_base=10, from_base=10 ):
   n = int(num, from_base ) if isinstance(num, str) else num
   alphabet = "0123456789ABCDEFGHIJKLMNOPQRSTUVWXYZ"
   res = ""
   while n > 0:
       n, m = divmod (n, to_base)
       res += alphabet [m]
   return res[::-1]

print(convert_base(49 ** 8 + 7 ** 24 - 749, 7, 10 ))


